A x 1| Tv400 x 10 MZ080 x 10 MZ200 x 3 A P100 x 121 9123.013/9123.023| complément au VASG6637 (2552.500)
B x1 MZ140 x 3 MZ260 x 13 P160 x 12 complementary set to + VAS5007/48 (2552.800)
Cx6| === MZ141 x 3 Mz601 x 1 P220 x 6 complemento al + VAS5007/66 (2552509 —
Dx1 MZ142 x 3 MZ602 x 1 P310 x 7 zusatz zu
REP REFERENCE NB % @ @ |\NB
2 Portes 1 2552.5001 (2552.500) | 1
. 46 2 2552.5002 (2552.500) 1
2 -Tarig REPARATION B.54 B.54 (2552.500) | 2
2 Door R e EIoNE, 30 34 32 3 2552.5003 (2552.500) 1 M8-40 2
REPARACION V2260 4 2552.5004 (2552.500) 1 M8-35 2
2 Porte 51+45-52+45 | 5 5 2552.5005 (2552.500) | 1 M14 2
46 u= _ 6 2552.5006 (2552.500) 1 M14-110 2
2 Puertas —gn s ’,f’ < /.\lﬂ — 33 7 2552.5007 (2552.500) | 4
| T 1T SOwmoto 28 7 4 N S 55 MZ260 8 2552.5008 (2552.500) | 1 M12-25 2
= J:'E controL T C MZ260 N1 /%' MZ260 D2 9 2552.5009 (2552.500) 1
FIG.3 ~ | 51+45-52+45 54 10 2552.5010 (2552.500) | 2
0 2260 . \ ~ 7 2552.5007 (2552.500) 4 M14 2
REPARATION M 1 ‘iu > 11 2552.5011 (2552.500) 1 M14-110 2
R ONE P 34 12 2552.5012 (2552.500) 1
T ARSE TZUNG I 13 2552.5013 (2552.500) 1
8-9 | 14 2552.5014 (2552.500) 1
10 15 2552.5015 (2552.500) 1 M12-25 8
T 16 2552.5016 (2552.500) 1
] H o IROE 52 17 2552.5017 (2552.500) 2
It N __=r CERPRUGUNG Mz14l 18 2552.5018 (2552.500) 2
I/J\ CONTROL E2 E53 E53 (2552.500) | 2
FIG.2 - 19 2552.5019 (2552.500) 1
20 2552.5020 (2552.500) 1
21 2552.5021 (2552.500) 1 M10-50 2
22 2552.5022 (2552.500) 1 | M12x1,50-120 | 2
23 2552.5023 (2552.500) 2
26 2552.5026 (2552.500) 1
27 2552.5027 (2552.500) 1
28 2552.5028 (2552.500) 1 M10-30 2
49 MZ080 29 2552.5029 (2552.500) 1 | M12x1,50-160 | 2
M2260 A1l 30 2552.5030 (2552.500) | 2
32 2552.5032 (2552.500) 1 M10-30 2
33 2552.5033 (2552.500) 1 | M12x1,50-30 | 2
34 2552.5034 (2552.500) 2
35 2552.5035 (2552.800) 1 M12 2
36 2552.5036 (2552.800) 1 M12-90 2
37 2552.5037 (2552.800) 2
39 2552.5039 (2552.800) 1 M12 2
40 2552.5040 (2552.800) 1 M12-110 2
41 2552.5041 (2552.800) 2
47 2552.5047 (2552.509) 1 M12-30 4
48 2552.5048 (2552.509) 1
49 2552.5049 (2552.509) 1 M12-30 4
50 2552.5050 (2552.509) 1
45 2552.5045 (2552.800) 2 M12 2
46 2552.5046 (2552.800) 2 M12-130 2
51 2552.5051 (2552.809) 1
52 2552.5052 (2552.809) 1
53 2552.5053 (2552.509) 1
1 54 2552.5054 (2552.509) 1
2 55 2552.5055 (2552.509) 1 M10-30 2
MZ
VAS 6637/1-RVA3-1 438-D-36E 22-12-11 {00
Copyright 2012 CELETTE FRANCE SAS -All rights reserved.
No part of this document may be reproduced in any form,
FIG.1 by photostat, xerography or any other means, or

P100 P160

P220 P310

incorporated into any informational retrieval system, electronic
or mechanical, without the permission of the copyright owner.




2 Door
2 Porte
2 Puertas TV400 MZ141 MZ260 MZ140 MZ260
MZ142 MZ080
MZ260 MZ602
; AT _ 1 L MZ260  MZ260
° MZ080 TV400 0 o 00
o+|J o+ o ) o o o oJ]o o o (o 1+
|v|21‘42 MZ080 TV/400 O | = _@
O o o] no o o o] o] o o o o oJ] o o o |o o
o [ L/ g ol5.16,17,18,19,20,21,24, 90 oBlo32,33,34 o86,37,38,39.400 o [o of |
| S Q)= oo O TV400
o O+0 +° O‘ O o 0 O o oo OW_O o o o] o o] o o o] o o] o o o] o o] o] o o o
4 Mo o
| | @ s~ o MZ080 <© o o ) o o o o o o o o o o
TV400 MZ140 MZ200 ’/{—o © I
NZ260 |0 |7 2 MZ080
o o o ° o o o o o o o o o o o o oo
Mzzg = MZ080 1©)
: : 0©° o o] o] o o] ] o o] o o] o] o o o MZZGO
TV400 MZ200 MZ200 ﬁ o o ° o o o o o o o o o o o o o
| | =42) MZ080 O
o O+0 +° O O o 0 O o oo o : ::: o o o] o o] o o o] o o] o o o] o o] o] o o o
\J'o= oJ[o\)5] o :U? o o@)\ ) ol o o o ol lo o o ol lo o o o o o o oTV4OO
+ + © © o o o o o o O0nAO© © © © o © © © © o o o © © o o o o © © © ©
O - \ \ oo 16 TT I8 19 20 21 24° A" vo 2 24, Bl 323334 B6 373839 40 | b lo—p
\ | | —p
MZ141 o \MZOSO TV400 [) o o ©>o (] (<] (] | o (] | o o o I I o o o k
T ul T Ly pIO| b | |
o MZ080 TV400 Oo+ o+ ° o +o J_+/°4 o o o o o o 5
/ MZ601 ' | ' MZ260 MZ260
TV400 MZ260 MZ141 MzZ080 MZ142 MZ260 MZ140 MZ260
12 3 4 5 6 7 8 9101112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41
VAS 6637/1-RVA3-1 438-D-36F 22-12-11 |00

Copyright 2012 CELETTE FRANCE SAS -All rights reserved.
No part of this document may be reproduced in any form,

by photostat, xerography or any other means, or

incorporated into any informational retrieval system, electronic
or mechanical, without the permission of the copyright owner.




SEVENNE / GRIFFFON / RHONE x 1

Ax1
B x1
Cx3
Dx1

TV400 x 6

=

MZ080 x 6
MZ140 x 3
MZ141 x 1
MZ142 x 1

MZ200 x 3
MZ260 x 2

P100 x 6
P160 x 8
P220 x 2

9123.013/9123.023

complément au VAS6637 (2552.500)
complementary set to +VVAS5007/48  (2552.800)

complemento al
zusaFt)z zu + VAS5007/66 (2552.809)

2 /14 Portes
2 14 -Turig

2 /4 Door

2 /4 Porte

2 /4 Puertas

REP REFERENCE NB % @ ®|\B
1 2552.5001 (2552.500) 1
2552.5002 (2552.500) 1
B.54 B.54 (2552.500) 2
2552.5003 (2552.500) 1 M8-40
4 2552.5004 (2552.500) 1 M8-35

13 2552.5013 (2552.500) 1
14 2552.5014 (2552.500) 1

15 2552.5015 (2552.500) 1 M12-25 8
16 2552.5016 (2552.500) 1
17 2552.5017 (2552.500) 2
18 2552.5018 (2552.500) 2
19 2552.5019 (2552.500) 1
20 2552.5020 (2552.500) 1

21 2552.5021 (2552.500) 1 M12-25 2
22 2552.5022 (2552.500) 1
24 2552.5024 (2552.500) 1
25 2552.5025 (2552.500) 1

28 2552.5028 (2552.500) 1 M12 2

29 2552.5029 (2552.500) 1 M12-60 2
31 2552.5031 (2552.500) 2

32 2552.5032 (2552.500) 1 M12x1,50-30 2
33 2552.5033 (2552.500) 1
A

| 1
M L

0o w >
QOO p
m om o
<« I ®

z z -

<

N

FIG.1
P100 P160 P220 P310

VAS 6637/1-RVA3-2 438-D-36G 29-02-12

01

Copyright 2012 CELETTE FRANCE SAS -All rights reserved.
No part of this document may be reproduced in any form,

by photostat, xerography or any other means, or

incorporated into any informational retrieval system, electronic
or mechanical, without the permission of the copyright owner.




2 /4 Portes
2 /14 -Tarig

2 14 Door

2 14 Porte

2 /4 Puertas

TV400 MZ140

MZ142 °ele° °l  TV400
[o e o o0 O

(()

+ [+
(o] o}|o o] o (o] 00 O o o o o
+ I I o o
o0 O\o©o ojJlo o] o o] [oe) o O o (<] ]
- -
(o] o

©

MZ080 /
MZ0SO  [r—s
TV400 MZ200 ©
o Q [o]
o O-¢-O g O 0 o (o] [o]Ne] o O : :
'0= [o] @ o] o] [olNe] o 0 (o] [e]
+ ||+

‘ © [o]Ne] o O o

MZ141 voloo o TV400

°©

°©

O

o

o

o

o (o]
o o
o [e]
O

o o
& &

MZ080 MZ140
I
CE) o :

.O

0, 10,17,18,19.20.21.245 o

|

MZ080

MZ080

] o
o o
[} o
o o
[} o
o o
] o
& o

5716 17°18719°20°21°22

P4,05,20,21,28,29

D4°25726721728724

o o
¢ ©
o ]
o o
o o
o o
o o
o o
o ]

o

© 881°30°33°34°35°36°31°38°39°4(°

%{@\

Bl ,32,33,34,39,36,31,38.39,40,

MZ080

°o__ | o

go
I

MZ140

1 2 3 4 5 6 7 8 91011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41

MZz200 MZ260
°© o ofo 14
e
> ¢ o o |
TV400
T 1o o TV400
© [ ©
o o o 0 ol]o o o E _
o o olo ] o
MZ200 MZ260
VAS 6637/1-RVA3-2 438-D-36H 29-02-12 |01

Copyright 2012 CELETTE FRANCE SAS -All rights reserved.
No part of this document may be reproduced in any form,

by photostat, xerography or any other means, or
incorporated into any informational retrieval system, electronic
or mechanical, without the permission of the copyright owner.




SEVENNE / GRIFFFON / RHONE x 1 A X 1| Tv400 x 10 MZ080 x 10 (e MZ200 x 3 P100 x 121 9123.013/9123.023| complément au VAS6637
B x 1 MZ140 x 3 il\ MZ260 x 13 P160 x 12 complementary set to (2552.500) @
Cx5 MZ141 x 2 h_{) MZ601 x 1 P220 x 6 complemento al ‘ )
Dx1 & MZ142 x 2 \“'7 MZ602 x 1 P310 x 5 zusatz zu * VA?2§5§387/48 —
. REP REFERENCE NB % @ @& |NB
4 Portes =y | e |
4 _TUrig REPARAGION '° B.54 B.54 (2552.500) | 2
43+45-44 +45 3 2552.5003 (2552.500) 1 M8-40 2
4 Door 46 4 2552.5004 (2552.500) 1 M8-35 2
4 Porte T conTROLE 30 5 2552.5005 (2552.500) 1 M14 2
| == T— CHECKING 33 6 2552.5006 (2552.500) 1 M14-110 2
4 Puertas =__.-|,J<._= CacrrrUcUNG 28 MZ260 7 2552.5007 (2552.500) | 4
FIG.4 43+ 45 - 44 + 45 44 MZ260 D2 8 2552.5008 (2552.500) | 1 M12-25 2
9 2552.5009 (2552.500) 1
10 2552.5010 (2552.500) 2
10 o 7 2552.5007 (2552.500) 4 M14 2
E%@ﬁw ﬁ I 34 11 2552.5011 (2552.500) | 1 M14-110 2
INSTANDSETZUNG L 12 2552.5012 (2552.500) 1
8-9 ) 13 2552.5013 (2552.500) 1
10 ' 14 2552.5014 (2552.500) 1
15 2552.5015 (2552.500) 1 M12-25 8
'_:__DZM RO 16 2552.5016 (2552.500) 1
it __=| COERPRUGUNG 17 2552.5017 (2552.500) | 2
I/J\ 6 conTRoL 18 2552.5018 (2552.500) | 2
FIG.2 40 E53 E53 (2552.500) | 2
\ V7140 19 2552.5019 (2552.500) 1
E o 14 20 2552.5020 (2552.500) 1
8 12 V7080 21 2552.5021 (2552.500) 1 M10-50 2
MZ602 vzeso |41 c 2 22 2552.5022 (2552.500) 1 | M12x1,50-120 | 2
B 1 10 54 23 2552.5023 (2552.500) 2
49 26 2552.5026 (2552.500) 1
MZ260 27 2552.5027 (2552.500) 1
28 2552.5028 (2552.500) 1 M10-30 2
29 2552.5029 (2552.500) 1 | M12x1,50-160 | 2
30 2552.5030 (2552.500) 2
32 2552.5032 (2552.500) 1 M10-30 2
33 2552.5033 (2552.500) 1 | M12x1,50-30 | 2
34 2552.5034 (2552.500) 2
35 2552.5035 (2552.800) 1 M12 2
36 2552.5036 (2552.800) 1 M12-90 2
37 2552.5037 (2552.800) 2
39 2552.5039 (2552.800) 1 M12 2
40 2552.5040 (2552.800) 1 M12-110 2
41 2552.5041 (2552.800) 2
43 2552.5043 (2552.800) 1 M12 2
a4 2552.5044 (2552.800) 1 M12-130 2
45 2552.5045 (2552.800) 2
46 2552.5046 (2552.800) 2
47 2552.5047 (2552.509) 1 M12-30 4
48 2552.5048 (2552.509) 1
49 2552.5049 (2552.509) 1 M12-30 4
50 2552.5050 (2552.509) 1
mE 55 2552.5055 (2552.509) 1 M10-30 2
0 1
E K
L
A D G
B E H " MZ
. ] , N VAS 6637/1-RVA3-3| 438-D-36K | 28-02-12 | 00
Copyright 2012 CELETTE FRANCE SAS -All rights reserved.
FIG.1 Dy Ehotostat, xerogranhy o oy oter means,or
P100 P160 P220 P310 ; !

incorporated into any informational retrieval system, electronic
or mechanical, without the permission of the copyright owner.




4 Portes
4 -Tdrig
4 Door
4 Porte
4 Puertas
TV400
MZ260 MZ602 MZ142 MZ080 MZ140 MZ260  MZ260
TV400 . MZ260 MZ260
[+ MZOSO @O o o o _I O O O O
MZ142 < MZ080 TV400 o+” o+ © o o ' ‘ @ o o o _'|
MZ140 / © B 1 _@
O+° . _ / 1 / S @|50|60|70|80|902002IOZZQ 9240250260270280299 QS_IQ @33034@ 936037038039040@ o lo o
=ﬂ i _i i o @) / TV400
| _@_ [) © ___I
TV400 MZz200 | . MZ080 MZ080
MZ260 o [ o©o o o o o o [ o [ [ [ [ o
% / | MZ260
o o o o :@
MZZGO o [+ 0©O o o o o o o o [+ [+ o o 0
MZ200 : : o o MZ080 o o MZ080 o o o o o o o o o o
| 4OH [~ O
i 0 —
+O 0 O o 0 O o oo O: Q: o o o o o o o o o o o o [+ o o o
26| BOF : ©\ s 8 & & & 818 8o & & & |6 8
- (o) [e] (o) [e] (o) [e] (o) A [e] (o) [e] (o) (o] (o) (o] (o) (o] (o)
ol °oe \ \ ool T8 1920 2124 P4 25 26 212829 Bl B3 34 B6 31383940 L L -
MZ200 \ ] o
MZ141 — ° MZ080  TV400 O X F
| +” Y ) o_[lo o ojJo o o (o Jo
== Mzoso TV400 O o | o o R JJ0, | |
o l 4] %+ | | | MZ260 MZ260
TV400  MZ260 MZ601 MZ141 MZ080 MZ140  MZ260  MZ260
1 2 3 4 5 6 7 8 910 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41
VAS 6637/1-RVA3-3 438-D-36L 28-02-12 1 00

Copyright 2012 CELETTE FRANCE SAS -All rights reserved.

No part of this document may be reproduced in any form,

by photostat, xerography

or any other means, or

incorporated into any informational retrieval system, electronic
or mechanical, without the permission of the copyright owner.




	Feuille 14
	Vues
	new_view_1

	Zones
	A1


	Feuille 15
	Vues
	new_view_3

	Zones
	A1


	Feuille 16
	Vues
	new_view_5


	Feuille 17
	Vues
	new_view_7


	Feuille 18
	Vues
	new_view_27


	Feuille 19
	Vues
	new_view_30





